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A 



1 Convert the following sentence into indirect speech.  

She said, “I was watching TV.” 
Answer 

 a) She said that 

she was watching 

TV. 

b) She said that she 

had been watching 

TV. 

c) She said that she 

watched TV. 

d) She said that 

she had 

watched TV. 
a 

2 Rearrange the following words to form a meaningful sentence.  

‘a/apple/the/an/day/keeps/doctor/away’. 
Answer  

 a) An apple a day 

keeps the doctor 

away. 

b) A day keeps an 

apple the doctor 

away. 

c) The doctor keeps 

an apple a day 

away.  

d) An apple 

keeps the doctor 

a day away.  
a 

3 Find the following correct pairs of Antonym: 

A.  Intricate (i) Direct 

B. Benign (ii) Simple 

C. Perplexing  (iii) Malignant 

D. Labyrinthine  (iv) Clear 
 

Answer 

 a)A-(ii), B-(iii), 

C-(iv), D-(i) 

b) A-(ii), B-(iii), C-

(i), D-(iv) 

c) A-(i), B-(iii),  

C-(ii), D-(iv) 

d) A-(iv), B-(iii), 

C-(i), D-(ii) a 

4 Read the following statements – one labelled as Assertion (A) and other as 

Justification  (B): 

A: English is a global language.     

B: English is widely spoken around the world.   

 

In the light of above statements, choose the correct answer from the following 

options. 

 

Answer  

 

 a) A is true, but B 

is false. 

b) Both A &B are 

true, but B is not 

the explanation of 

A.  

c) Both A & B are 

true, and B is the 

correct explanation 

of A. 

d) A is false, but 

Bis true. 
c 

5 Which of the following sentences uses the correct form of the verb? Answer  

 

 a) She don’t like 

apples. 
b) He doesn’t likes 

to play football. 

c) They doesn’t go 

to school on 

Sundays. 

d) She doesn’t 

like apples.  d 

6 When was “Dharti Aaba TribePreneurs” inaugurated by Ministry of Tribal 

Affairs? Answer 

 a) 3rd April, 2025 b) 3rd March, 

2025 

c) 3rd February, 

2025 

d) 3rd January, 2025  

(a) 

7 ‘INDRA’ is an exercise for defence cooperation between_________. 

Answer 

 a) India and China b) India and 

Russia 

c) India and 

France 

d) India and Japan 
(b) 



8 Match the Following: 

 

A. Boori Boot i. Bihar 

B. Painkuni  ii. Ladakh 

C. Sindhu Darshan iii. Arunchal Pradesh 

D. Chhath iv. Kerala 
 

Answer 

 a) A-iii, B-iv, C-i, D- 

ii 

b) A-iii, B-ii, 

C-iv, D- i 

c) A-iii, B-iv, 

C-ii, D- i 

d) A-ii, B-iv, C-iii, 

D- i 
(c) 

9 What is the primary objective of the Saubhagya Scheme? 

Answer 

 a) Free healthcare to 

rural household 

b) Promoting 

agriculture in 

hilly areas 

c)Enhancing 

educational 

facilities in 

urban areas 

d) Achieving universal 

household 

electrification 
(d) 

10 ‘International Day of the World’s Indigenous People’ is observed on:  

Answer 

 a) August 9 b) January 12 c) February 12 d) March 12 (a) 

11 Match the following: 

 

A. Whole Number i.  2,3,5,7,11,13, 17……. 

B. Prime Number ii. 0,1,2,3,4, 5…………… 

C. Natural Number iii. …-3, -2, -1,0,1,2,3… 

D. Integers iv. 1,2,3,4,5……… 
 

Answer 

 a) A-iii, B-iv, C-i, D- 

ii 

b) A-ii, B-i, C-

iv, D- iii 

c) A-iii, B-iv, 

C-ii, D- i 

d) A-ii, B-iii, C-iv, D- i 
(b) 

12 1800 ÷ 10 {(12 - 6) + (16 - 12)} =? 

Answer 

 a)180 b) 108 c) 18 d)124 (c) 

13 The angle of elevation of the top of tower from a boy standing at a point ‘P’ is 30°. 

On walking 100 meter towards the tower at point Q, it makes angle of elevation 

60°. Then,  

I. The height of the tower is 50√3 meter. 

II. The distance between tower and P is 150 meters. 

III. The height of the tower is 100√3 meter. 

IV. The distance between tower and Q is 50 meters. 

 

Choose the correct answer from the options given below: 

 

Answer 

 a) Only I and II is 

True 

b) Only I, II 

and IV is True 

c) Only II, III 

and IV is true 

d) Only II and III is 

true 
(b) 



14 Which of the following statement(s) is/are true? 

I. A library is to books as a garage is to cars. 

II. Just as a car needs fuel to function, a human body needs food to survive. 

III. Heart is to circulatory system as brain is to digestive system. 

IV. Sun is to heat as moon is to cold. 

 

Answer 

option  

(a,b,c 

or d) 

 a) Only I and II is 

True 

b) Only I, II 

and IV is True 

c) Only II, III 

and IV is true 

d) Only II and III is 

true 

(a)  

 

15 Assertion (A): Whales are warm-blooded.  

 

Justification (B): All mammals are warm blooded. 

 

In the light of above statements, choose the correct answer from the options below: 

 

Answer 

option  

(a,b,c 

or d) 

 a)Both A and B are 

true, and B correctly 

explains A 

b) Both A and 

B are False 

c) Both A and 

B are true, but 

B is not the 

explanation for 

A 

d)A is true but B is 

false 
(a) 

 

16 Which of the following is science of architecture? 
Answer 

 a) Kalpa Shastra b) Artha 

Shastra 

c) Vastu 

Shastra 

d) Chandas Shastra 
(c) 

17 Which of the following is the least populated state in India? 
Answer 

 a) Sikkim b) Arunachal 

Pradesh 

c) Mizoram d) Tripura 

(a) 

18 Match the following: 

 

A.Heavy rainfall in the city i.Eye strain and poor sleep 

patterns 

B. Power failure in the 

neighborhood 

ii.Water logging in streets 

C. Increase industrial pollution iii.Disruption of internet 

connectivity 

D.Excessive use of mobile 

phones 

iv.Rise in respiratory diseases 

 

Answer 

option  

(a,b,c or d) 

 a) A-iii, B-iv, C-i, D- 

ii 

b) A-ii, B-i, C-

iv, D- iii 

c) A-iii, B-iv, 

C-ii, D- i 

d) A-ii, B-iii, 

C-iv, D- i 

(d) 

 

19 Make the correct choice from the Assertion (A) and Justification (B) given 

below 

A: Regular physical activity improve cardiovascular health 

 

B: Exercise strengthens the heart muscles and improves blood circulation. 

Answer 



 a) Both A & B are true 

and B is the correct 

justification of A 

b) Both A & B 

are true but B 

is not the 

correct 

justification of 

A 

c) A is true B 

is incorrect 

d) A is 

incorrect and 

B is correct 
(a) 

20 Match the events of war with the date. 

 

A. Bombing of Pearl Harbor by Japanese Air 

force 

i. 2nd March 1965 

B. Initiation of operation Rolling Thunder 

during Vietnam war 

ii. 17th January 1991 

C. Dropping of atomic bomb on Hiroshima iii. 7th December 1941 

D. Operation Desert Storm (Iraq War) iv. 6th August 1945 
 

Answer 

 a) A-(i), B-(ii), C-(iii), 

D-(iv) 

b) A-(iii), B-

(i), C-(iv), D-

(ii) 

c) A-(iv), B-

(i), C-(iii), D-

(ii) 

d) A-(iii), B-

(iv), C-(i), D-

(ii) 

(b) 

 

21 Which one of them is correct example of ‘soft water’?  Answer 

 a) Foam with soap b) water not 

foaming with soap 

c) Rain water d) Tape water 
c 

22 Match the following pairs: 

 

A. Yeast   (i) Emulsifier 

B. Soy lecithin   (ii) Bleaching agent 

C. Benzoyl peroxide  (iii) Preservative 

D. Calcium sorbate  (iv) Leavening 
 

Answer 

 a) A-(iv), B-(i), C-

(ii), D-(iii) 

b) A-(iii), B-(i), 

C-(iv), D-(iii) 

c) A-(iv), B-(i), 

C-(iii), D-(ii) 

d) A-(iii), B-(iv),  

C-(ii), D-(i) 
a 

23 Which of the following statement(s) is/are true or false?  

 

A: Protein is primarily responsible for providing energy to the body.  

B: Carbohydrates are the primary source of energy.  

C: A balanced diet must include all five essential food groups.  

D: Pressure cooking reduces cooking time minimizing nutrient loss compared to 

boiling.  

 

Answer 

 

 a) A& B are true 

and C & D are 

false. 

b) A & B are false 

and C & D are 

true. 

c)A, B & C are true 

and D is false. 

d)A is false and 

B, C & D are 

true. 
d 

24 Given below are two statements, one is labelled as Assertion (A) and the 

other is labeled as Justification (B). 

 A: Baking soda is used in baking and cleaning products. 

 B: Baking soda present in all cleaning products. 

 

Answer 

 



In the light of above statements, choose the correct answer from the options given 

below: 

 

 a) Both A and B 

are true, but B is 

not the correct 

explanation of A. 

b) A is true, but 

B is false. 

c) Both A and B 

are true and B is 

the correct 

explanation of A. 

d) A is false, 

but B is true. 

 

b 

25 Which nutrient is primarily responsible for building and repairing tissues in the 

human body? 

 

Answer 

 a) Carbohydrates  b) Proteins c) Fats d) Vitamins b 

26 In which Art period mixture of Hellenistic and Buddhist forms are seen?  Answer 

 a) Gupta Art  b) Mathura Art c) Gandhara Art d) Mauryan Art c 

27 Match the following pairs: 

 

A. Aradhana (i) Rani Mukherjee 

B. Pyasa (ii) Sharmila Tagore 

C. Black (iii) Rekha 

D. Umrao-Jan  (iv) Waheeda Rehman 
 

Answer 

 a) A-(ii), B-(iv),  

C-(ii), D-(i) 

b) A-(i), B-(ii), C-

(iv), D-(ii) 

c) A-(ii), B-(iv),  

C-(i), D-(iii) 

d) A-(iv), B-

(iii), C-(i), D-

(ii) 
c 

28 Choose which of the following statement(s) is/are true or false.  

A: The term aesthetic refers only to visual beauty. 

B: Abstract art always represents real-world objects.  

C: Pop Art is known for its vibrant, bold colours and imagery, inspired by popular 

culture.   

D: Monalisa is a Renaissance art.  

 

Answer 

 

 a) A& B are true 

and C & D are 

false.  

b) A & B are false 

and C&D are true. 

c) A & D are false 

and B & C are true. 

d)A & D are true 

and B & C are 

false. 
b 

29 Read the following statements – one labelled as Assertion (A) and other as 

Justification (B). 

A: Social media has become a global craze in recent times. 

B: Social media cut across all barriers of age, sex, culture and status.   

 

In the light of above statements, choose the correct answer from the options given 

below: 

Answer 

 

 a) Both A and B 

are true but B is 

not the correct 

explanation of A 

b) A is true, but B is 

not the correct 

explanationof A 

c) A is false, but B 

is true 

d) Both A and B 

are false  
a 

30 Which of the following is an example of abstract art? Answer 

 a) A realistic 

portrait of a 

person. 

b) A landscape 

painting depicting a 

forest. 

c) A painting with 

shapes and vibrant 

colours.  

d) A still life 

painting of 

fruits.  
c 



31 A pattern is developed by: Answer 

 a) Repeating motifs  b)Addition of 

decoration 

c) Repeating 

texture  

d)Addition of 

colour a 

32 Match the following pairs: 

A. Madhya Pradesh (i) Mysore silk 

B. Odhisa (ii) Chanderi silk 

C. Kerala (iii) Ikat Textile 

D. Karnataka  (iv) Kasavu 
 

Answer 

 a) A-(iv), B-(iii),  

C-(ii), D-(i) 

b) A-(ii), B-(iv),  

C-(iii), D-(ii) 

c) A-(ii), B-(iii),  

C-(iv), D-(i) 

d) A-(ii), B-(i),  

C-(iv), D-(iii) 
c 

33 Which of the following statement(s) is/are true or false? 

 

A: Weaving and knitting are two primary methods of fabric construction.  

B: Textile design only involves pattern creation and doesn’t include fabric 

selection.  

C: Printing methods such as screen printing and digital printing are common in 

textile design.  

D: Natural fibres are always stronger than synthetic fibres.  

 

Answer 

 

 a) A & B are true, 

and C & D are 

false. 

b) A & C are true, 

and B & D are false.  

c) A & D are true, 

and B & C are 

false. 

c) A & B are 

false, and C & D 

are true  
b 

34 Read the following statements – one labelled as assertion (A) and other as 

justification (B): 

A: Maintenance of fabrics made from low twisted yarns is difficult for 

the consumer. 

B: Low twisted yarns shed dirt easily since there is less space between the fibres for 

dirt to settle. 

 

In the light of above statements, choose the correct answer from the options given 

below: 

Answer 

 

 a) Both A and B are 

true and B is the 

correct explanation 

of A 

b) A is false but B is 

true 

c) Both A and B are 

true, but B is not 

the correct 

explanation of A 

 d) A is true but B 

is false 
c 

35 Which of the following is an example of a natural fibre?  Answer 

 a) Polyester b) Nylon  c) Cotton d) Acrylic  c 

36 The value that appear most frequently in a data set is called: Answer 

 a) Mass b) Mean c) Mode d) Median c 

37 Match the following pairs: 

A. A division of a dataset into four equal parts (i) Range 

B. The middle value in a sorted data set (ii) Quartile 

C. The difference between the maximum and minimum 

values in a data set 

(iii) Percentile  

D. A specific point in a data set below which a given 

percentage of values falls 

(iv) Median 

 

Answer 



 a) A-(iv), B-(i), C-

(iii), D-(ii) 

b) A-(ii), B-(iv), C-

(i), D-(iii) 

c) A-(iii), B-(ii), C-

(i), D-(iv) 

d) A-(iv), B-(ii), 

C-(iii), D-(i) 
b 

38 Which of the following statement(s) is/are true or false?  

 

A: The mean of a dataset is always greater than the median.  

B: The probability of an event occurring is always a value between 0 and 1.  

C: In hypothesis testing, the null hypothesis represents the assumption that there is 

no significant effect or relationship. 

D:  A histogram is used to represent categorical data.  

 

Answer 

 

 a) A &B are true 

and C& D are 

false. 

b) A & D are false 

and B & C are true. 

c) A & D are true 

and B & C are false. 

d) A & B are 

false, and C & D 

are true. 
b 

39 Read the following statements – one labelled as assertion (A) and other as 

justification (B): 

A: The mean is always greater than or equal to the median in a 

positively skewed distribution. 

 

B: In a positively skewed distribution, the tail on the right side is 

longer, extending towards the higher values.  

 

In the light of above statements, choose the correct answer from the options given 

below: 

 

Answer 

 a) Both A & B are 

true and B is the 

correct explanation 

of A. 

b) Both A & B are 

true but B is not the 

correct explanation 

of A. 

c) A is true, but B is 

false. 

d) A is false, but 

B is true 
a 

40 Find the median of the given set of numbers 2, 6, 6, 8, 4, 2, 7, 9 Answer 

 a) 4 b) 8 c) 6 d) 5 c 

41 The belief that one’s own culture is superior to other culture is called 
Answer 

 a)Ethnocentrism b)Ethnosemantics c)Assimilation d) Enculturation 

(a) 

42 The tribes earlier listed under the Criminal Tribes Act of 1871 are: 

Answer 

 a)Scheduled tribes b)Primitive tribal 

groups 

c)Denotified 

tribes  

d) Northeast tribes 
(c) 

43 Which of the following statements are true in relation to ‘tradition’? 

 

A. It helps in transmission of cultural knowledge. 

B. It does not inspire creativity as it overemphasizes the past. 

C. It is sometimes resistant to change becoming a hindrance for social change. 

D. It provides moral codes and is a source of social control. 

 

Answer 

 a) A&B are true, 

C&D are false 

b) A,C & D are 

true, B is false.  

c) A,B&C are 

true, D is false 

d) C&D are true, 

A&B are false 
(b) 



44 Given below are two statements, one labelled as Assertion (A) and the other 

labelled as Reason (R): 

A: Khasi society is not necessarily a matriarchal society. 

 

B: Khasi women were traditionally forbidden from participating in the Dorbar. 

 
In the light of above statements, choose the correct answer from the options given below: 

 

Answer 

 a)  (A) is correct, 

but (R) is wrong. 

b) Both (A) and 

(R) are wrong. 

c) (A) is 

wrong, but (R) 

is correct. 

d) Both (A) and (R) 

are correct. (d) 

45 Match the following pairs: 

 

A. Cultural Relativism i. the preference for a foreign or other 

cultures over one’s own. 

B. Xenocentricism  ii. the act of seeking some kind of 

gratification by objectifying a culture 

different from one’s own. 

C. Cultural appropriation iii. The idea that a culture should be understood 

on its own terms, not by comparing it to other 

cultures. 

D. Cultural Voyeurism iv. Taking and using elements of culture 

without understanding or respecting the 

original meaning. 
 

Answer 

 a) A-(i), B-(ii), C-

(iii), D-(iv) 

b) A-(iii), B-(iv), 

C-(i), D-(ii) 

c) A-(iii), B-

(ii), C-(iv), D-

(i) 

d) A-(iii), B-(i), C-

(iv), D-(ii) (d) 

46 Ziro is in the tentative list of UNESCO World Heritage Site for: 
Answer 

 a) beautiful 

landscape 

b) sustainable 

resource 

management 

practices 

c) sustainable 

tourism 

d) Ziro Music Festival 

(b) 

47 Which of the following statement(s) is/are true in relation to climate change? 

 

A .Ozone depletion is not the main cause of climate change. 

B. Global warming is not a cause of climate change.  

C. Animals can always adapt to climate change. 

D. Climate change will lead to frequent wildfires. 

 

Answer 

 a) A & C are true, B 

& D are false 
b) A, C, D are 

true, B is false 

c) A & D are 

true, B & C are 

false 

d) Only B is true 

(c) 

48 Sustainable use of natural resources without compromising the ability of the future 

generations to meet their own need is: Answer 

 a) Sustainable 

Development 

b) Inclusive 

Development 

c) Industrial 

Development 

d) Resource 

Development 
(a) 



49 Match the following Environmental Movements in India with the State of 

occurrence. 

 

A. Appiko Movement i. Uttarakhand 

B. Silent Valley Movement ii. Odhisa 

C. Chipko Movement iii. Karnataka 

D. Niyamgiri Movement iv. Kerela 
 

Answer 

 a) A-(iii), B-(ii), C-

(i), D- (iv) 

b) A-(iv), B-

(iii), C-(i), D-

(ii) 

c) A-(iii), B-

(iv), C-(i), D-

(ii) 

d) A-(ii), B-(i), C-(iv), 

D-(iii) (c) 

50 People or communities who primarily depend on resources and services of their 

natural environment are called: Answer 

 a) Ecological 

Refugee 

b) Ecological 

Omnivore 

c) Biosphere 

people 

d) Ecosystem people 
(d) 

51 The practice where basal stub of crop is left during harvest to prevent erosion is 

called: Answer 

 a) Cover cropping b) Mulching c) Contour 

cropping 

d) Strip cropping 

( b) 

52 The traditional step wells in Rajasthan especially constructed for rain water 

harvest is called:  Answer 

 a) Khadins b) Bawri  c) Talab d) Eri (b) 

53 Which of the following statement(s) is/are true or false for soil and water 

conservation practices by communities in Northeast India? 

 

A. Fish cum Paddy cultivation among the Apatani is a multipurpose water 

management system leading to water and soil conservation. 

B. Bench terracing among the Naga tribes is practiced to irrigate rice cultivation in 

plain land. 

C. Bamboo drip irrigation system is practiced in Megahlaya for irrigating Betel 

vines and areca nut cultivation in the hills.  

D. Zabo farming system in Nagaland is a combination of forest, agriculture and 

animal husbandry with well founded soil and water conservation base. 

 

Answer 

 a) A, C, D are true & 

B is false 
b) A,B.C.D are 

true 

c) A,B,C are 

true & D is 

false 

d) A,B,D are true and 

C is false (a) 

54 What is the primary purpose of formative assessment in education? 
Answer 

 a) to evaluate student 

learning outcomes 

b) to determine 

student grades 

c) to identify 

student 

strengths and 

weaknesses 

d) to compare student 

performance to peers 
(c) 

55 Which of the following learning theories emphasizes the role of reinforcement in 

learning? Answer 



 a) Behaviorism  
b) Cognitivism 

c) 

Constructivism 

d) Humanism 
(a) 

56  

Statement-I: Constructivist learning theory states that students passively receive 

knowledge from teachers. 

Statement II: Bloom’s Taxonomy classifies learning objectives into only three 

levels—Remember, Understand, and Apply. 

 

Choose the correct answer from the options given below: 

 

Answer 

 a) Only I is True b) Both I and 

III is True 

c)Both I and II 

are False 

d)None 
(c) 

57 Assertion (A): Active learning techniques improve student engagement. 

 

Justification (B): They require students to memorize concepts without 

understanding them. 

 

Choose the correct answer from the options given below: 

 

Answer 

 a)Both A and B are 

true, and B correctly 

explains A. 

b)Both A and 

B are true, but 

Bdo not 

explain A. 

c)Both A and B 

are False 

d)A is True and Bis 

False 
(d) 

58 Match the Following: 

 

A. Bloom’s Taxonomy i. Child-Centred educational approach 

B. Montessori Method ii. Learning based on experience and interaction 

C. Constructivism iii. Learning through direct experience 

D. Experiential Learning iv. Art and science of teaching 

E. Pedagogy v. Hierarchical model of cognitive learning 
 

Answer 

 a) A-v, B-i, C-ii,  

D- iii, E-iv 

b)A-v, B-i,  

C-iii, D- ii, E-iv 

c)A-v, B-ii, C-i, 

D- iii, E-iv 

d)A-iv, B-i, C-ii, D- 

iii, E-v  
(a) 

59 What is the term for the process of economic growth and development that is led 

by the private sector? Answer 

 a) Capitalism b)  Socialism c) 

Communism 

d) Globalisation 
(a) 

60 Which of the following statement(s) is/are true 

I. Labour unions exist solely to increase wages for workers. 

II. The Gig Economy provides long-term job security to workers 

Answer 

 a) Only II is True 
b) Only I is True 

c) Both are 

False 

d) Both are True 
(c) 

61 Which of the following is a major indicator of poverty? Answer 

 a)Income 

Inequality 

b)Unemployment 

Rate 

c)Life 

Expectancy 

d)Infant Mortality 

Rate 
(d) 



62 Match the following: 

 

A. Minimum Wage Law i. Skill enhancement for employment 

B. Social Security 

Measures 

ii. Prevents employment of minors in hazardous 

work 

C. Trade Unions iii. Protects worker rights and negotiates wages 

D. Child Labour 

Prohibition 

iv. Ensures financial assistance during 

unemployment 

E. Vocational Training v.Prevents exploitation of workers 
 

Answer 

 a) A-v, B-iv, C-iii, 

D- ii, E-i 

b) A-v, B-i, C-iii, 

D- ii, E-iv 

c) A-v, B-ii, C-

i, D- iii, E-iv 

d) A-iv, B-i, C-ii, D- 

iii, E-v 
(a) 

63 What is the term for the movement of people from rural areas to cities? 
Answer 

 a)Urbanization b)Migration c)Settlement d)Colonization (a) 

64 Which of the following geographical features is formed by the movement of 

tectonic plates? Answer 

 a)Mountain Range b)Volcano c)Canyon d)Delta 
(a) 

65 Which of the following psychological disorders is characterized by excessive and 

persistent worry about everyday things? 
Answer 

 a)Anxiety disorder 
b) Depression 

c)Bipolar 

Disorder 

d)Schizophrenia 
(a) 

66 Which of the following is/are true?  

I. The Coriolis Effect influences the direction of ocean currents and winds. 

II. Antarctica is the only continent that lacks deserts. Answer 

 a) Only I is True b) Only IIis 

True 

c)  Both are 

False 

d) None 
(a) 

67 Match the Followings: 

 

A. Delta i. Process of land becoming dry and barren 

B. Plate Tectonics ii. Seasonal wind patterns causing heavy rainfall  

C. Monsoon iii. Group of closely located islands 

D. Archipelago iv. Movement of Earth's lithospheric plates 

E. Desertification v. Landform at the mouth of a river 
 

Answer 

 a) A-v, B-iv, C-iii, 

D- ii, E-i 

b) A-v, B-i, C-

iii, D- ii, E-iv 

c) A-v, B-ii, 

C-i, D- iii, E-

iv 

d) A-v, B-iv, C-ii, D- iii, 

E-i (d) 

68 Who is credited with developing the theory of psychoanalysis? Answer 

 a) Sigmund Freud b)Erik 

Erikson 

c)Jean Piaget d)B.F. Skinner 
(a) 

69 Which of the following statement(s) is/are true? 

I. The subconscious mind operates at the same level of awareness as the 

conscious mind. 

II. The placebo effect proves that medication works through biochemical 

mechanisms only. 

Answer 



 a) Only I is True b) Only II is 

True 

c) Both are 

False 

d) None 
(c) 

70 What is the term for the process of helping individuals, groups, or communities to 

develop the skills and resources needed to solve their own problems? Answer 

 a)Casework b)Group 

work 

c)Community 

Organisation 

d)Empowerment 
(d) 

71 Which of the following is a key principle of social work practice? Answer 

option  

 

 a)Neutrality b)Confidentiality c)Consent d)Advocacy (d) 

 

72 Match the Followings: 

 

A. Classical Conditioning i. Behavior reinforced by rewards or 

punishments 

B. Operant Conditioning ii. Mental discomfort due to conflicting beliefs 

C. Cognitive Dissonance iii. Model explaining human motivation 

D. Maslow’s Hierarchy iv. Ability to understand and manage emotions 

E. Emotional Intelligence v. Learning through association (Pavlov’s dog) 
 

Answer 

option  

(a,b,c 

or d) 

 a) A-v, B-iv, C-iii, D- 

ii, E-i 

b) A-v, B-i, C-iii, 

D- ii, E-iv 

c) A-v, B-ii, 

C-i, D- iii, E-

iv 

d) A-v, B-iv, C-ii, D- 

iii, E-i 
(a) 

 

73 Which of the following is/are True? 

I. Social welfare programs focus solely on providing financial aid to 

disadvantaged groups 

II. The Right to Education Act (RTE) in India ensures free education for all 

students up to the university level 

Answer 

option  

(a,b,c 

or d) 

 a) Only I is True 
b) Only II is True 

c) Both are 

False 

d) None 
(c) 

74 To convert raw agricultural products into food products is known as: Answer 

option  

 

 a) Processing b) Preservation c) Packaging d) Storage (a) 

 

75 Match the following pairs: 

 

A. Community Development i. Promoting justice and equality 

B. Counselling Services ii.Supporting recovery from 

addiction/disabilities 

C. Child Welfare Programs iii. Ensuring safety and well-being of children 

D.Rehabilitation Services iv. Providing emotional support and guidance 

E.Human Rights Advocacy v. Enhancing local infrastructure and resources 
 

Answer 

option  

(a,b,c 

or d) 

 a) A-v, B-iv, C-iii, D- 

ii, E-i 

b) A-v, B-i, C-

iii, D- ii, E-iv 

c) A-v, B-ii, C-

i, D- iii, E-iv 

d) A-v, B-iv, C-ii, D- 

iii, E-i 

(a) 

 

76 Which of the following food additives is used to enhance the texture and stability of 

food products? 
Answer 

option  



 

 a) Preservatives b) Emulsifiers c) Sweeteners d) Flavour Enhancers (b) 

 

77 Match the Following:  

A. Fermentation i. Crops modified for better yield and pest 

resistance 

B. Food Preservation ii.Breakdown of sugars by microorganisms 

C. Nutrient Fortification iii. Methods to extend shelf life of food 

products 

D.GMOs (Genetically Modified 

Organisms) 

iv. Adding vitamins and minerals to enhance 

nutrition 
 

Answer 

option  

(a,b,c 

or d) 

 a) A-iii, B-iv, C-i, D- ii b) A-ii, B-i, C-

iv, D- iii 

c) A-iii, B-iv, 

C-ii, D- i 

d) A-ii, B-iii, C-iv, 

D- i 

(d) 

 

78 The Rigveda is believed to have been composed during: a) 

a) 1500–

1000 BCE 

b) 1200–

1000 BCE 

c) 1000–

800 BCE 

d) 2000–

1500 BCE 
 

79 Who was the founder of Jainism? b) 

a) 

Mahavira 

b) 

Rishabhanatha 

c) 

Parsvanatha 

d) 

Gautama 
 

80 The Indo-Greek ruler who is said to have converted to Buddhism was: a) 

a) 

Menander 

(Milinda) 

b) 

Demetrius 

c) 

Antialcidas 

d) 

Seleucus  

81 Sangam literature was written in: c) 

a) Sanskrit b) Telugu c) Tamil d) 

Kannada 
 

82 The decimal system in mathematics was first used in:  

a) 

Harappan 

Civilization 

b) Vedic 

Age 

c) Gupta 

Period 

d) 

Mauryan Period c) 

83 Who wrote the famous book ‘Brihat Samhita’? b) 

a) 

Aryabhata 

b) 

Varahamihira 

c) Kalidasa d) 

Chanakya 
 

84 Which is not a classical dance form of India? b) 

a) 

Kuchipudi 

b) 

Yakshagana 

c) Manipuri d) Odissi 
 

85 Which of the following temples is an example of Nagara style? c) 

a) Shore 

Temple 

b) 

Brihadeshwara 

Temple 

c) Sun 

Temple at Konark 

d) 

Meenakshi 

Temple 

 

86 The term ‘Gharana’ is associated with: b) 

a) Temple 

architecture 

 

b) 

Classical music 

traditions 

c) 

Sculpture styles 

 

d) Textile 

designs  



87 

Which schedule of the Constitution distributes powers between the Union 

and the States? 
a) 

a) Seventh b) Eighth c) Ninth d) Tenth  

88 

The “Second Diffusion” of Buddhism in Tibet in the 10th–11th centuries 

was led by: 
a) 

a) Rinchen 

Zangpo 

b) 

Milarepa 

c) 

Tsongkhapa 

d) Marpa 
 

89 Tibetan Thangka paintings are deeply influenced by: c) 

a) Persian 

art 

b) Mughal 

miniatures 

c) Indian 

Pala art 

d) 

Gandhara art 
 

90 

 
 
Match the following symbols in List I associated with Buddhism with 

symbolizing in list II 
 

A. Horse i. Enlightenment of 

Buddha 

B. Bodhi Tree ii. The first sermon of 

Buddha 

C. Wheel iii. Buddha leaving his 

home 

D. Lotus and Bull iv. Birth of Buddha 
 

a) 

a) A-iii, B-
i, C-ii, D-iv 

b) A-i, B-
iii, C-ii, D-iv 

c) A-i, B-
iii, C-iv, D-ii 

d) A-ii, B-
i, C-iii, D-iv 

 

91 Which of the following statements is true?  

a) Like 

Europe, the 

nobility in Mughal 

India was a legal 

category. 

b) ) The 

Mughal nobles 

were not involved 

in the task of 

administration at 

higher level. 

c) The 

social distinctions 

between the Iranis, 

Turanis and the 

Shaikhzada nobles 

disappeared. 

d) The 

nobles whose 

ancestors had been 

in the Mughal 

Imperial service 

for more than a 

genera tion were 

called Khanazads. 

d) 

92 

Which one of the following was the first state to establish the institution of 

the Lokayukta in India? 
d) 

a) 

Rajasthan 

b) Bihar c) Uttar 

Pradesh 

d) 

Maharashtra 
 

93 

Which of the following are the characteristics of Weber’s ideal bureaucracy?  

1. Staff and line  

2. Impersonality  

3. Hierarchy  

4. Informal organization  

Select the correct answer from the codes given below:  

b) 

a) 1 and 2 b) 2 and 3 c) 3 and 4 d) 1 and 4  

94 Who is considered the “father of mass communication”? 

Answer 



 a)Wilbur Schramm b)Marshall 

McLuhan 

c)Claude 

Shannon 

d)Harold Lasswell 
(a) 

95 Which of the following statements are true in relation to ‘religion’? 

 

A. It provides a sense of meaning and purpose to life. 

B. It plays no role in shaping moral and ethical values in society 

C. It can promote social cohesion and unity among members of a community. 

D. It may also be a source of conflict and division in society. 

 

 

Answer 

 a) A&B are true, C&D 

are false 
b) A,B&C are 

true, D is false 

c) A,C & D 

are true, B is 

false. 

d) C&D are true, 

A&B are false (c) 

96 Type Questions here for matching pairs: 

 

A. Gender i. Expectations about how individuals should 

behave based on their perceived gender. 

 

B. Patriarchy ii. A socially constructed identity associated 

with being male, female, or non-binary. 

 

C. Gender role iii. The unequal treatment of individuals based 

on their gender. 

D. Gender disparity iv. A social system in which men hold primary 

power and dominate over women. 
 

Answer 

 a) A-(ii), B-(i), C-(iii), 

D-(iv) 

b) A-(iii), B-

(iv), C-(i), D-

(ii) 

c) A-(ii), B-

(iv), C-(i), D-

(iii) 

d) A-(iii), B-(i), C-

(iv), D-(ii) (c) 

97 Which of the following statement(s) is/are true or false in relation to theatre? 

 

A. Theatre is a form of performing art that combines speech, gesture, music, and 

visual elements. 

B. Theatre has no connection with society or culture. 

C. Street theatre is an example of a traditional performance that often addresses 

social issues. 

D. The audience plays no role in the experience of a theatrical performance. 

 

Answer 

 a) A&C are true, B&D 

are false 

b) A,C,D are true, B 

is false 

c) A&D are true, 

B&C are false 

d) Only A 

is true 
(a) 

98 Match the following Applied Art forms with their respective areas of application: 

 

 

A. Graphic Design i. Product packaging and branding 

B. Industrial Design ii. Furniture, appliances, and consumer products 

C. Fashion Design iii. Clothing, textiles, and apparel 

D. Interior Design iv. Space planning and aesthetic arrangement of 

interiors 
 

Answer 



 a) A-(iii), B-(ii),  

C-(i), D-(iv) 

b) A-(i), B-(ii),  

C-(iii), D-(iv) 

c) A-(iii), B-(iv),  

C-(i), D-(ii) 

d) A-(ii), B-(i), 

C-(iv), D-(iii) 
(b) 

99 What is meant by ‘inflation’? 

 Answer 

 a)A decrease in the 

general price level 

 

b)An increase 

in the 

production of 

goods 

 

c)An increase 

in the general 

price level of 

goods and 

services 

 

d)A fall in the value 

of export 

 
(c) 

100 Which of the statement(s) is/are true or false in relation to clans? 

A. A clan is a group of people united by actual or perceived kinship and 

descent. 

B. Clans are always based on biological relationships only. 

C. Clans often serve as important units in social organization and identity. 

D. All members of a clan must live in the same geographic area. 

Answer 

 a) A, B and C are true 

but D is false 

b)A and C are 

true but Band 

D are false 

c) A,B,C are 

true & D is 

false 

d) A,B,D are true 

and C is false (b) 

 


